SER

(FHEBA=mm)
i FU%ES EARES R =
SER 3 6 3 2.75
SER 4 7 4 2.75
SER 5 8 5 2.75
SER 6 9 6 2.75
SER 7 10 7 2.75
SER 8 11 8 2.75
SER 9 12 9 2.75
SER 10 13 10 2.75
SER 10A 14 10 3.9
SER 11.2 16.2 11.2 3.9
SER 12 16 12 3.9
SER 12.5 16.5 12.5 3.9
SER 14 18 14 3.9
SER 15 19 15 3.9
SER 16 20 16 3.9
SER 18 22 18 3.9
SER 20 24 20 3.9
SER 22 26 22 3.9
SER 22.4 28.4 22.4 58
SER 24 30 24 5.8
SER 25 31 25 5.8
SER 26 32 26 58
SER 28 34 28 58
SER 30 36 30 5.8
SER 32 38 32 5.8
SER 34 40 34 58
SER 35 41 35 5.8
SER 35.5 41.5 35.5 5.8
SER 36 42 36 5.8
SER 38 44 38 58
SER 40 46 40 58
SER 42 48 42 5.8
SER 45 51 45 5.8
SER 46 52 46 58
SER 48 54 48 5.8




(<HiEB AL =mm)

f=K FUES FARES nE =
SER 50 56 50 5.8
SER 55 65 55 9.4
SER 56 66 56 9.4
SER 60 70 60 9.4
SER 70 80 70 9.4
SER 75 85 75 9.4
SER 80 90 80 9.4
SER 90 100 90 9.4
SER 100 110 100 9.4




